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1. The & nx discusses men MoKk according to nw»w °21 in a case of two brothers who
married 2 sisters and died childless. The surviving brothers can’t do Yibum with either
sister, but if one of the sisters can’t marry one of the brothers because of mx» m0°k she
needs Chalitza. An mx» mo°k as explained earlier (2 77) is a divorcee to a Kohen. Since all
brothers must be o°177> (all share the same father), how can a divorcee be able to marry one
brother but not the other?

2. Rnw nva say that anp ann, is this the same as regular Pw17p? Meaning that although
there is a 012> m¥n one can do Pwh 7R with the 2> which is separate from o12°?

3. Further to the above why would %51 n°2 argue that 1w17°p works? Although it’s not a
fulfillment of the o12° m¥n, why wouldn’t it work just like any 121 7°p?

4. The x 3 asks why according to *xaw n°2 when 2 sisters fall to 212> from 2 brothers, we
tell them to do 7x°%1. Since “X»nw n°2 maintain that 72p 27K7, let them both do 2z and than
o12°. We learnt in the first pas that according to nana My nx “knw n°3, which means that
they do not use Mm% for M=y n1g. We also learnt that if you don’t use "1%% for may nax
than its used for nw»w 27 who says that when two sisters fall together they are both exempt
from o127 oo, If so how can sknw n°2 allow 012 after anxn in the case of 2 sisters?

5. If anna is 172 7Y her 02 can be 79°n. The Gemara explains that she has him in mind
when making a vow. We know that 77577 is only valid for the day that a husband hears the
vow, but if the reason here is because she has him in mind, it should help even the following
day or later?

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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